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Stat 4/551 HW #6

5. Two towers are constructed, each by stacking 30 seg-
ments of concrete vertically. The height (in inches) of a
randomly selected segment is uniformly distributed in the
interval (35.5, 36.5). A roadway can be laid across the 2
towers provided the heights of the 2 towers are within 4
inches of each other. Find the probability that the road-
way can be laid. Be careful to justify the steps in your
argument, and state whether the probability is exact or
approximate.

10. A batch of 100 steel rods passes inspection if the
average of their diameters falls between 0.495c¢m and
0.505cm. Let x and o denote the mean and standard
deviation, respectively, of the diameter of a randomly
selected rod. Answer the following questions assuming
that ¢ = 0.503 ¢cm and o = 0.03cm.

(a) What is the (approximate) probability the inspector
will accept (pass) the batch?



